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Wit chBEs + 46 £ (A)AGP (B)IDE (C) PCI (D)USB

2. - 55 1024%1024 > 4% 1§(24bits/pixel) ik 5 2 B Z % > bytes ?

(A)3M (B) 8M (C)24M  (D)512K  (E)12 .+ % 2
3. N 2 and dick ot 11111111 % 77

(A)-1 (B)-2 (C)-3 (D)254 (E)255
4. 7 9 (space)p ]2 ASClIlcode £ 32> & F #5575 > 3% & odd parity » B|# parity bit & @ ?

(A) 0 (B) 1 (C)2 (D) 3 (E) 32
5. % n ik bits > 2 cid ek v il BV L ehie Rl s

(A) —2"'5 2 (B) —2"-1—» 2"-1 (C) —2™1— 2" (D) —2"'-1—» 2™ (E) i

oyt
6. T FTRIBER £ 5 7 Er ok G BodE 9
(A) Band and Chain  (B) Dot matrix  (C) Ink-jet (D) Laser  (E) Thermal printer
7. THRBPE TR B 1L§i§l r~IEE?
(A) Image scanner (B) Keyboard (C) Light pen (D) Mouse (E) Touch screen
IBM = 4|3 8% v F S ik 7
(A) 2’s complement (B) ASCII  (C) BCD (D) EBCDIC (E) Signed integer
9. #xfI* FTP Bi - A F4h > 7K TH BHoE 5 -
(A) ASCII mode (B) Binary mode (C) Key mode (D) ¥ g2t
10.12 T i@ ﬁ 7 Z_#5 & &9 control structure :
(A) Repetition  (B) Subroutine  (C) Selection (D) Sequence
11.#® '?5 &_Machine dependent programming language
(A) Assemly (B)C (C) Pascal (D) SQL (E) VB
12,183 k3 g2 3 5 — B b enCPU i s
(A) Multiprocessing (B) Multitasking (C) Spooling (D) Virtual machine (E) 7} % 2t
13,98~ ﬁ@ﬁﬁl”‘v W H @ﬂis?l
(A) Computer  (B) Radio talk (C) Telephone (D) TV (E) VOD
14.5% B30T i PR APIE T

*

(A) Bridge (B) Gateway (C) Repeater (D) Router (E) Token ring
15.v%— % §_IBM-PC 4p 3 8 £ ¢ * 7 CPU
(A) AMD (B) Cyrix (C) Intel (D) Motorola (E) %2t

16NORIJ#*#IA‘%T\/ ,?-

(A)F=A+A* (B)F=A+A’ (C)F= A*A' (D)F= A+A' (E) 11} %z

17.:% B monitor %] 3% *‘ﬂ‘z FA% ()R E?



(A) size (B) resolution (C) refresh rate (D) dot pitch (E) m+ g2t
18— BF = Fa Pt A g > e ARG R IE £F 5O BHBE?
(A)4 B) 5 (©) 10 (D) 11 (E) 12
19.% 7 — A g 40T 1 1024 bytes/sector » 208 sectors/track > 3% track #cz 6295 5 B gt A AL &P
S I €= - o e
(A)125  (B)128  (C)13.1  (D)13.4
AR GIERF I 1075 % L2558 =9

k=1

(A)-3 (B)-6 <) -9 (D)-12 (E) m+ g2t
21.Pentium #_32 =~ CPU » 32 &35 # A& size ?

(A) Address bus (B) Bufter (C) Data bus (D) Memory (E) Register
22.How are the processing speeds of a microprocessor measured?

(A) Gigawatts (B) Megabytes (C) Megahertz (D) None of the above
23.What is the CPU?

(A) Central Processing Unit (B) Common Programming Unit (C) Coordination of

Processing Unit (D) Nove of the above

24.Which of the following would be classified as secondary storage?
(A) Disk storage (B) Memory (C) Tape storage (D) All of the above (E) None of the
above

25.Which of the following best describes sending data electronically from one location to another?
(A) Data communications (B) Data processing (C) Multiprocessing (D) Multitasking
(E) None of the above

(=) AR~ @l &2 # % 1 (15%)
(A) BIOS
(B) RAID
(C) Cache

() ReEFTrm et A? (10%)
(A)
Dim a(10) As Integer
ForI=1To 10
a(l)=1+3
Next I
Print a(a(a(2)+2)-2)+2
(B)
#include <stdio.h>
int main()
{
inti=2,k, *pl, *p2, a[] = {3, 5, 8, 10, 15};
pl =a+tl;
p2 = &I,
k=pl[*p2];
/* output k*/
printf(*“%d”, k);
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